Find the co-ordinates of the vertices and foci, and the equations of the asymptotes of the hyperbola SCORE: /8 PTS
x% - 9y2 +4x—54y —41=0. State clearly which co-ordinates are for which points.
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Classify the graph of each equation as a circle, a parabola, an ellipse or a hyperbola. SCORE: /2 PTS
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A point has polar coordinates | 14, ? ;
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[a] Find another set of polar coordinates for the point, using a positive value of r.
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[b] Find another set of polar coordinates for the pomt, using a negative value of r.
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| Plot the graph of r» =2c0s@ —1 for 0 <& < % . You must list the polar coordinates for 5 points in that range. SCORE: /8 PTS

Use decimal approximations for irrational values of 7.
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Convert the rectangular coordinates (9, —3x/§) to polar coordinates, SCORE: /4 PTS
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Convert the polar equation PP =245in26 to rectangular form., SCORE, .
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